=%

ont
)
g
~
)
o

-
=
=
M
\|lv
A
o

&

P

L
—

VL
A

=L
L ] OH

L&+ =1.85
MY = AFO] 3 22%

(TE |
O

78+ =1.80
MRS = XH9] 3.59%



Ut JTH= Tg71ot=

o

+ OPYRO| DI} RS WHSE AGH 2
- of) 1003 1059 %S Axfu=ge 10%

o IS S Bt of NS BoPt oLs o
TED, QT % AFSKH ciistoflA So| 28

%

* skoologic



CHSHOI
ZH%0F XA

Aok
012!

M42 BEVfoL0] Bhol ot 9%,
M2 QIX|Z mototy| S[otof

£ Bt2ojlM opAYe| ofat
e XIZ molopy| Sfoto

NHFATHOI=I=
ATy 5‘:‘\ o
EA rl“ ’P:;\ f’/ \
d c

% skoologic



721501 MAPMEZE

LIt JIZHH YOk

OH=IH?

T o] X|- 0 TO7|EYUS 2l AAIH B

=1 O
AN, T2c, MEAYT 5 Mg Farfotg
SHE of opY

L

HUSEH U HE0HE 2789 A ESS Sl
o= [ 2ol OlIEolL! XIZotHl
ANE=FS =HloHH

* skoologic



